Set #16 — Instantaneous Center

1. A double pulley is attached to a slider block by a pin at A. The 30-
mm-radius inner pulley is rigidly attached to the 60-mm-radius outer
pulley. Knowing that each of the two cords is pulled at a constant speed
as shown, determine

a) the instantaneous center of rotation of the double pulley,

b) the velocity of the slider block,

c) the number of millimeters of cord wrapped or unwrapped on

each pulley per second.
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Set #16 — Instantancous Center

2. Knowing that at the instant shown the angular velocity of
rod AB is 15 rad/s clockwise, determine

a) the angular velocity of rod BD,
b) the velocity of the midpoint of rod BD.
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Set #16— Instantanenus Center

! 3. Two rods AB and BD are connected to three collars as
| shown. Knowing that collar A moves downward with a
 velocity of 120 mm/s determine at the instant shown

! a) the angular velocity of each rod,

: b) the velocity of collar D.
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Set #16 — Instantaneous Center

4. Two rods AB and DE are connecled as shown. Knowing that point B moves
downward with a velocity of 60 inches/s, determine
a) the angular velocity of each rod,
b) the velocity of point E.
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